

PURCHASE DIVISION Advice for approval for credit to supplier

Date:	Date: 17/02/22		Prepared by Ranyo		Serial no.		" -	2048				
		Associates.		HO inward no.								
Firm/Comp	any	SSLLP		Project		SHUP		HO receive	ed date		and produced the second	
PO/WO date (9 (2 2 2		PO/WO No. 85 C168			Scan ID.							
Sl no.		Bill no.			Bill	date	I	Bill amount		Origina	1 attached	
1.	5	17 17		16/2/22 6			48,	U8,520 L			□ Yes □ No	
2.								/			□ No	
3.											□ No	
4.										□ Yes	□ No	
		otal (Excluding							48		<i>[-</i>	
Proof of del	livery by	way of: DCs	s/bill	□ Steel re	eport RM	C pour repor	rt 🗆 Sol	id block rep				
MRN								of delivery	L	□ Yes	□ No	
nos.:		10380	1				matche	es MRN			-	
Amount B	-Other (Credits : Transpo	ortatio	on charges	3				80	6		
Amount C –Other Debits :												
Amount D	(D=A+E	B-C) – Amount	to be	credited to	the suppli	er:			48.	520	-	
Amount E	- PO / W	O value:						5		577.	60	
Amount F	Differe	ence (A – E):								2.4		
Quantity re	ceived a	s per PO /WO			□ Yes □	Excess recei	ved 🗆 Sh	nort received				
Close PO /	WO				□ Yes □	No – wait fo	r balance	e material	Other			
Payment -	due date				22-10	0100						
Remarks:				· 8	pland	les f	inoul	Bill		aft demonstration and control the descriptions		
Approve	ed by	Purchase Off	icer	THE RESERVE OF THE PARTY OF THE	chase pager	MD)	Accour	ntant	1	counts	
Name:		Postus		es pivia	agei					101	anager	
Sign:		Karryo		17 FE	B 202)	0000						
Date		17/2/22	-	MINISH	PARIKH							
Approval li	mit	Upto 20k	MAK	Above 2	0k	Above 100	k	Upto 20k		Above	20k	

Notes: 1. In case amount to be credited to supplier and the bills total does not match, accountants to prepare JV for debit or credit.

2. This set should only have 5 documents i.e., advice to credit to supplier, original bill, proof of delivery, original purchase order with barcode, original requisition. 3. Do not attach additional documents like weighment slips, RMC batch reports, duplicate documents, Eway bills, test reports, etc. 4. In Amount A, exclude transport, Hamali charges, etc., and instead include in Amount B. 5. This report must reach HO within one working day of approval by purchase officer/purchase manager.

TAX INVOICE





AUTHORISED DISTRIBUTORS:

DR FIXIT, ROFF, MYK, ZYDEX & CERA CHEM CONSTRUCTION CHEMICALS

No. 3-6-98, Vasavi Towers, Below Cafe Coffee Day, West Marredpally Main Road, Secunderabad - 500 026.

GSTIN: 36ABTPV3594Q1Z8

To. Ch	M/s Summit Saley 11P erlapally, Kingston P4 CON TNO 36 ACON FS		lo	84 0	Pate: 15 (074	1021	
S.No.	DESCRIPTION	Packing	Qty.	Unit Price	AMOUN' Rs.	Ps.	
リ	PBR Bonding Agent HiM code: 40021100	214	10	1350.00	13500	00	
2)	Roff S.T.A (vitrofix) Hencoder 38245090	2079	30	670.00	20100	00	
3)	Silic (New Ivary) HISN code (38245090	119	60	48.00	2880	00	
4)	2 2 2	219	60	48.00	2880	00	
	Hencode: 38245090	2109	20	48.00	960	00	
5	Myb Almond	,4()		L	800	00	
	HIM wde: 38245090		Total To		41120	00	
	ONE THE STATE OF T	ARD	CGST	9 91/,	3700	80	
13	IN WARD Inward No: 19716 MRN No: 103801	Di: [C] 2	IGST 6		1	100	
(S)	Date: 1712 To Received Ry:	Sign:	TOTAL	And the state of t	48,520	00	
Ru	per fourty Bigly Thou	and f	we th	undreal	and Twa	top	upy
Goo Sub	ds once sold will not be taken back or exchange ject to Hyderabad Jurisdiction.	d		Pila	dadive		ove

For Anisha Associates

Purchase Order

Page(s) 1 Of 1

14-02-2022 13:46:46



From Company : Summit Sales LLP

5-4-187/3&4,II nd floor,MG Road, Secunderabad-500003.

G S T No.: 36ACQFS2044C1Z7

Supplier Details					
Anisha Associates		Doc No	85468	169464	
No.3-6-98, Vasavi Towers, Boosa Road, Secunderabad.	Doc Date	14-02-2022			
,		Quote No	Nil		
GSTIN 36ABTPV3594Q1Z8	NA	Quote Date	14-02-202	22	
66209804	9246589804	SupplyType	Supply		

Kind Attn: Mr. Kishan Raj

Purchase Order for the Supply of following Items.

Item Name	Qty	Rate	Dis%	GST	Amount
1 3127 - Chemicals - RBR bonding agent - 5ltrs - nos	10.00	1,350.00	0.00	18.00	15,930.00
2 3165 - Chemicals - R0ff Stone Tile Adhesive - 25 - Kgs	30.00	670.00	0.00	18.00	23,718.00
3 3134 - Chemicals - Tile Grout - 1kg - pkts Silk-60 White-60	120.00	48.00	0.00	18.00	6,796.80
4 3134 - Chemicals - Tile Grout - 1kg - pkts Amlond	20.00	48.00	0.00	18.00	1,132.80
		Total Or	der Value	e	47,577.60

Rupees: Fourty Seven Thousand Five Hundred Seventy Seven and Paise Sixty Only.

Terms and Conditions :-

Specification /

As per details given in the quotation.

Payment Terms

On complete delivery of all maerials only.

Tax

Inclusive of all GST taxes

Delivery Date

Next Day.

Delivery Location

Summit Housing LLP

Cherlapally, Behind Kingston PG college, Hyderabad

Phone. 9618244433, Hamendra

Penality For Delay Nil

Transportation

Extra.

Warranty

Nil

Advance Paid

Nii

Other Terms

We reserve the right to reject items not conforming to quality and specifications. Above order for Stock Replenshing purpose.

Completion Date

Nil

Measurment

Nil

Security

Nil

Remarks

Original invoice + copy of proof of delivery is required to process invoice for payment . Do not send original invoice to site. Original invoices must be sent to HO office or purchase site office. Proof of delivery /DC can be sent by email.

For Summit Sales LLP

Authorised Signatory

Accepted the above Terms And Conditions

For Anisha Associates

Name :	

Name:	

Date : __/__/

Requisition Form

-				110 9 00 101	*****					
Company Name:		SSLLP			Date:			10.02.2022		
Site & Phase :		SSHLP			Time:			10:00		
Supplie	er				Req.No.			169464		
Materia	al required before date:		10.01.2022		ID No.		73775			
No	Description			Size		Quantity	Units	Inward No	Date	
1	Bonding agent			5ltrs		10	Ltrs			
2	Tiles adhesive-Roff brand			20kgs		30	Bags			
3	Tile grout-silk			1kg		60	Kgs			
4	Tile grout-white 85468			1kg		60	Kgs			
5	Tile grout-Almound					20	Nos	\checkmark		
Remar	ks: For Stock Replenesl	hing purpo	se					APPROVE	BY	
Prepared By N.Vanajakshi		Approved by		-						
Sign.& Date 10.02		10.0220	22		Sign. & Date			1 2 FEB 2022		
Note: O	n receipt of material at	site write in	ward numb	er and date	in last	2 columns		3		

Note: On receipt of material at site write inward number and date in last 2 columns.

SOHAM MODI MANAGING DIRECTOR